
Make sure anyone assembling or 
installing StageTek components has 
read and understands the instructions.

Always comply with Warnings 
or Cautions in the instructions 
or posted on the equipment.

Basic Instructions only!  
For more detailed product information, refer to the  

StageTek Staging System Owner's Manual 280A099.

! CAUTION! CAUTION

Assembly Instructions
Backdrop Accessory for  

StageTek® Staging System

©Wenger Corporation 2023 Printed in USA 2023-09 Part #281A573-02

Wenger Corporation, 555 Park Drive, PO Box 448, Owatonna, Minnesota 55060-0448
Questions? Call.....USA: (800) 4WENGER (493-6437) • Worldwide: +1-507-455-4100 • wengercorp.com

Note: Please read and understand these instructions before assembling or setting up.
Note: If you need additional information, contact Wenger Corporation using the information below.

Visit the StageTek Staging System web page at wengercorp.com for more information.



Getting Started
Before beginning the backdrop kit assembly, note the following considerations:
 •  The backdrop kit must be used along with the guardrail accessory (not included).
 •  The backdrop kit is available in 3', 4', 6' and 8' (914, 1219, 1829 and 2438 mm) standard widths and  

    supports 8' (2438 mm) tall drapery.
 •  Drapery is shipped separately from the supplier.
 •  A 9/16" wrench is required for assembly.
 •  Backdrops cannot be used on adjacent sides of a deck if already used on the back side of the deck  

    due to corner clearances.

Assembly
1. Attach a leg clamp assembly to both of the uprights with one 3/8-16 x 4" capscrew and 3/8-16 lock nut  

using a 9/16" wrench as shown. 
Face both leg clamp assemblies outward, creating a right-hand upright and a left-hand upright.

2. Screw a knob into both of the uprights as show. 
The knob only needs to be screwed in far enough to hold it in place.

2

Leg Clamp 
Assembly

Knob

Upright

3/8-16 x 4" 
Capscrew

3/8-16 
Lock Nut



3. Attach both uprights to the guardrail assembly and platform deck.
a. The guardrail assembly must be centered on the platform deck and properly attached.
b.	 With	the	wing	nut	on	the	leg	clamp	assembly	facing	toward	the	outside,	fit	the	cut-out	weldment	 

of the upright over the top rail and rotate it downward.
c. Secure the leg clamp assembly to the rear leg of the platform deck.
d. Hand-tighten the knob on the upright to secure it to the top rail.

3

Fit the cut-out 
weldment over 

the top rail

Wing nut faces 
toward the 

outside

Secure to the 
rear leg

Hand-tighten 
the knob on 
the upright



4

4. With the hook and loop surface facing the platform deck side, attach the horizontal bar to the top of  
both uprights using two 3/8-16 x 5" capscrews and 3/8-16 wing nuts.

5. Attach the drapery to the hook and loop on the horizontal bar.

3/8-16 x 5" 
Capscrew

3/8-16 
Wing Nut

Horizontal 
Bar

Hook and loop surface 
faces the platform 

deck side


